
H. Wilson Company
555 West Taft Drive
South Holland, IL 60473
Phone: (800) 245-7224
Fax: (800) 245-8224
www.hwilson.com
www.tuffyland.com

WPSMS

Parts for WPSMS
(1) Base
(2) Poles
(1) Mounting Bracket for 
Pedestal
(4) 3 1/4” Machine Bolts
(4) Self-locking Nuts
(4) 5/16 -18” Bolts
(4) Washers
(4) Nuts

Instructions:
1. Put base in desired location.

2. Insert poles into pole holders on base making sure multiple holes (on pole) are 
towards the top and the single hole is on the bottom. Line up the single hole on 
pole with the single hole on the pole holder located on base. Secure with a 3 1/4” 
machine bolt and self-locking nut. 

3. Repeat on other side with other pole.

4. Open box for WFST, Single Stud Plasma Mount, and take out the Wall Bracket, 
Part A. Attach Wall Bracket to Pedestal Mounting Bracket, Part B, by lining up the 4 
holes and securing with (4) 5/16-18” bolts, washers and nuts.

5. Slide the assembled bracket unit (Parts A & B) over top of poles, lining up holes 
at desired height. Secure with the 3 1/4” machine bolts and self-locking nuts on 
each side. 

6. Assemble Plasma Mount following instructions located inside it’s box. Begin with 
Step 2.

Note: If you are attaching the WPSMS20 to an exisiting surface, you must drill holes 
in the base using a 3/8” drill bit. No hardware is provided for this. 

PART B
Mounting Bracket 

for Pedestal

PART A
Single Stud Plasma 
Mount Wall Bracket

WPSMS62WPSMS44WPSMS20


